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Please check that this question paper contains 11 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 32 questions.
Please write down the Serial Number of the question before
attempting it.

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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General Instructions :
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@)

(i1)

(ii1)

(iv)

(v)

(vi)

(viz)

All questions in both the sections are compulsory.
Marks for questions are indicated against each.

Questions No. 1-5 and 17-21 are very short-answer questions
carrying 1 mark each. They are required to be answered in one
sentence each.

Questions No. 6-10 and 22 -26 are short-answer questions
carrying 3 marks each. Answers to them should normally not exceed
60 words each.

Questions No. 11 - 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

Questions No. 14-16 and 30-32 are long-answer questions
carrying 6 marks each. Answers to them should normally not exceed
100 words each.

Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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1. =y fymE & g S | 1

Define microeconomics.

2. T g% & f@EET F T FRO IR | 1

Give one reason for a shift in demand curve.

3. -9 3IWA # 3fg A &, T uied! @ra @1 SHeRR F@ @ 8 2 1

What is the behaviour of Total Variable Cost, as output increases ?

4. TF W IR F 9 @ o § T g W Iafed a%g # fhat o wEn a9
Tt 8, did 9wt (M) #1 FeRR F @ 8 2 1

What is the behaviour of Marginal Revenue in a market in which
a firm can sell any quantity of the output it produces at a given
price ?

5. Fga-fuies o 9 F=1 ofmm @ 2 7

What is a price-maker firm ?

6. 3IUCH TG g% I IR AN | THEET F I 99 ¥ ¥ 99 # 3R ewdl
i B g | 3

Define Production Possibilities Curve. Explain why it is downward
sloping from left to right. '

7. TE IUNRH FaA & a%gel, X SR Y F UG FOT 8 SR Gqem @ 1 X F
T YT ST @ | SYAT fGvemer § Sudih @ wialhar guensy | 3

A consumer consumes only two goods X and Y and is in equilibrium.
Price of X falls. Explain the reaction of the consumer through the Utility
Analysis.
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qe :
Note :

10.

11.
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W & W ¥ gd el A, $9 arE, iR Fd feR @ne 9w g |

Draw Total Variable Cost, Total Cost, and Total Fixed Cost curves in
a single diagram.

frafarad 7o Fac gl gianaal & e 397 T 8 F W W E |

The following question is for the Blind Candidates only, in lieu
of Q. No. 8.

SHY-IY I A 8, $A AN H A AR @l 7, THIET |

Explain the behaviour of total cost as output increases.

TS IAEH AT F9d ¥ AV R iR weed # e a9 YE F 2 |
39 O ¥ Ifafifed iR WE ardl # teeH HINT | GESRT |
A producer starts a business by investing his own savings and hiring

the labour. Identify implicit and explicit costs from this information.
Explain.

T i S SR H faskdet @ agl T g9 ¥ F wRum feed @,
FHEET |
JgaT

Uy 6 UF SFUYER aWR H ked $© WH & H@ gl § |

Explain the implications of large number of sellers in a perfectly
competitive market.

OR

Explain why there are only a few firms in an oligopoly market.

*

@WW#W.WIWﬁﬁMW%Wﬂﬁ
R ITRATEr (HqfF) & wR F9 @ g | :

Define an indifference map. Why does an indifference curve to the right

show more utility ? Explain.



12. TH 39dRH 3 10 5f0 397 1 Fva W TF G F 10 3HEA Gl 7 | 20 THRA
Gled W a8 T 200 @I &1 2 | vfova oy g w7 F S | g e | 39
Yo & 3MUR W HIT 9% & MR W feuof i | 4

A consumer buys 10 units of a commodity at a price of ¥ 10 per unit. He
incurs an expenditure of ¥ 200 on buying 20 units. Calculate price
elasticity of demand by the percentage method. Comment upon the shape

of demand curve based on this information.

13. IRad emui @ oW Fo foamar 7 39 fEm & guR 9w 39K &1 SRR
FaRY | | 4
e

Wﬁﬁﬂﬁﬁqﬁaﬂ#ﬁ@mﬁqﬁrwwmm%,ml

What does the Law of Variable Proportions show ? State the behaviour

of marginal product according to this law.

OR

Explain how changes in prices of inputs influence the supply of a

product.

14. (i) ofean gegell ot = aegell & = o (i) s STl 3 Sy _
(FHYEE) ST & g S THIREY | &% H ST G | 6

Explain the difference between (i) inferior goods and normal goods and

(ii) cardinal utility and ordinal utility. Give example in each case. '
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“gff 7em # ofEde” o “ufi § wieda” & d9 iR THERY | @i @ oW
FHIfST |

Explain the distinction between “change in quantity supplied” and

“change in supply”. Use diagram.

frefafaa yv7 Fac giEgiT wiandal & e 797 &7 15 F ©H WE |

The following question is for the Blind Candidates only, in lieu
of Q. No. 15. ' :

“off a1 § wRada” sk “ofd § wRedd’ % di9 iR ww afew & weE 9
HHARRT |

Explain the distinction between “change in quantity supplied” and

“change in supply” with the help of a table.

T TR H AR GqE § & | W SR O O weeu ‘el o @ At
WK HHg ¥ HE Redd T80 ST | U difcrenl & Gerdar 8 §uEe fE ot
0 dve 7 |

Agdr

TH 9] F GSR §qeM H 7 | A Fa (1) 9qed Sma § efs eI (i) daed
TG ¥ FH @, O aER A e el s S gue 9HeR |

Market for a good is in equilibrium. There is simultaneous “decrease”
both in demand and supply but there is no change in market price.

Explain with the help of a schedule how it is possible.
OR

Market for a good is in equilibrium. Explain the chain of reactions in the

market if the price is (i) higher than equilibrium price and (ii) lower than

equilibrium price.
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17.

18.

19.

20.

21.

22.
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SECTION B

TaE WX @l g ST |

Define flow variable.

Iq4IT e F g S |

Define consumption goods.

Iafees smisl 9 = 3w 8§ 2

What are time deposits ?

T S R ST |

Define a ‘direct tax’.

Mﬁﬁw.aﬁwmé?

What is a fixed exchange rate ?

TSR HAd W faa 7e7 gfg 7 Fifsw -
(i) qIEE )

(i) 3eRA fasi (3E)

(iii) IerEA & AT THE FHA ()
(iv) fm =i ()

(v) s &€ ()

(vi) fasit =X R)

(vii) HeFedl ard (%)

700
900

40
1,000
300
3,000
20,000
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eduiife’  Find Net Value Added at Market Price :

1) Depreciation (%) 700
(i)  Output sold (units) 900
(iii) Price per unit of output ) 40
(iv)  Closing stock () 1,000
(v)  Opening stock () 800
(vi) Sales tax ) 3,000
(vi1) Intermediate cost () 20,000

23. A F ARG PO H AAE FE THIARC |

Explain the ‘standard of deferred payment’ function of money.

24, F9d 9% § IUG g% W A § AU SM Gl =0T 99EC | W@y & 3am
Hifg |
Outline the steps taken in deriving Consumption Curve from the
Saving Curve. Use diagram.

e : frefafaa 597 dac fEgiT qhansal & G0 597 &7 24 F @ W 2 |
Note : The following question is for the Blind Candidates only, in lieu
of Q. No. 24.

I ygf 3R == W F Y iR YT ISR % e ¥ THIRY |

Distinguish between propensii:y to consume and propensity to save,
with the help of numerical examples.

58/1 8



25. fr=fafaa § I =59 91 ST ¢ 3
TEE 319 = T 5,000
WA (FAaH) 3T = T 1,000
i ITErT w9 = 0-80

Find Consumption Expenditure from the following :

National Income = ¥ 5,000
Autonomous Consumption = ¥ 1,000
Marginal propensity to consume = 0-80

26. &R a9 H ToE Wi 3R S Wit & i 3ot IaEy | WS H IR
ST | 3

Frgar
e feemar @ ¥ TEA oo F gfFH IRy |

Distinguish between revenue receipts and capital receipts in a
government budget. Give example in each case.

OR

Explain the role of government budget in bringing economic stability.

27. frafafEad &t 3ifan =59 AF1 A1 =T o1 qegadl =59 ? 3794 SW & faU SR
s | 4
(i) Us % g L # @l
(i) w9 g W-TEE | & ™o

Should the following be treated as final expenditure or intermediate
expenditure ? Give reasons for your answer.

(1) Purchase of furniture by a firm.
(ii)) Expenditure on maintenance by a firm.

28. T 9% 1 ‘SfH FORE FE FEIRT | 4
Agar
ST ¥F T OTWER FAF FE GEIRT |
Explain the ‘lender of last resort’ function of the central bank.
OR

Explain ‘government’s banker’ function of the central bank.

58/1 9 R.T.0:
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edurtte 29. WM o § YIS U7 FH STURIT YHART | IHY FAT YT o @ ? 4
Explain the concept of ‘fiscal deficit’ in a government budget. What does
it indicate ?

30. (i) 99N FHd W THd TPF I a1 (ii) faeei & fFaer =g (Fefar) g

Fd ST : 4.3
R #g)
()  fosft sifem 39 =53 1000
(i) YoIBH 100
(i) fFoer TE WE@ST A 1500
(iv) ifm =i 20
(v) SR sifqg sgam =39 300
(vi) FHaa1 3mcae & 50
(vii) 3RS =iE 20
(viii) fraa wRe /= gt fmo 110
(ix) fraa fAafq 15
x) R = fad FrE g (-) 10

Find out (i) Gross National Product at Market Price and (ii) Net
Current Transfers to Abroad :

X crore)
(1) Private final consumption expenditure - 1000
(i) Depreciation 100
(iii) Net national disposable income 1500
(iv) Closing stock 20
(v)  Government final consumption expenditure 300
(vi) Net indirect tax : 50
(vii) Opening stock 20
(viii) Net domestic fixed capital formation : 110
(ix) Net exports _ 15
(x)  Net factor income to abroad (=) 10

58/1 10



31.

32.

THfT e’ F NETEUROT GHIET | IR HH HE § duile omRya Ay @
qfaer ff g9 |

| reat
‘SeRifa AU B SFTUROT GHIRY | SR FH FA H WA SEvIRAS &
qfehT 1 FHAET |

Explain the concept of ‘inflationary gap’. Also explain the role of
‘legal reserves’ in reducing it.

OR

Explain the concept of ‘deflationary gap’. Also explain the role of
‘margin requirements’ in reducing it.

fogeht fafmar o faceht fafma @@ & o samu | @RoT SO gU fadeh fafe
T ek faesht fafma &t o & 99 TE e |
Give the meaning of ‘foreign exchange’ and ‘foreign exchange rate’.

Giving reason, explain the relation between foreign exchange rate and
demand for foreign exchange.



